- ¥ | oy o - - = ’ ' 3 f I

= 1 &S Y d ~ ‘i' .. & [

| __.-, ‘,l 1L ﬁl e |l,. LII, 1::': e ~ ||rT'[ a " '_: | ! R |

= - P,f 4 ot - ._‘ Tl - "-! e !F'ﬂ‘u .I-l. » 3 I'r 4 r'.:-?“_l'l' i
. . = | Y ]

a
Lo | 2
e[

a8ogo awl s psl Lol aydlll ol






g -1 1._l_ncrcasing the % of nonfiber carbohvdrtes leads to increase milk fat%
- (a) True ——
(b) False

SAN-12. During hot conditions, cows tend to decrease feed sorting:

(a) True
(b) False

%hc types of dairy records are:
(a) Individual cow records (b) Farm business  (¢) answers a and b are correct (d) None

Mkle strap is an example of ngnpermanent animal identification method:

< (a) True

(b) False
435 Freeze branding is done by exposing the skin to:
& (a) Alcohol (b) Dry ice with Aleohol (¢) Liquid nitrogen (d) Answers b and ¢ correct

-

;‘E\ 216. The principle of freeze branding is destroying------==--— to grow white hair in the branded

area:
elanocytes (b) Melatonin  (c) Monensin (d) None

17, Hot branding method reduces risk of infection from the burn:
(a) True
(b) False

M‘Which of the following traits is the major trait for genetic improvements in dairy cows?
(a) Milk yield (b) Udder depth (¢) Mastitis  (d) Milk composition

_-:fl;__li). Which of the of the terminology 1s defined as introducing new genetic materials into the

population:
(a) Migration (b) Gene frequency (¢) Genotype (d) Selection
fom e
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250, Cows are an example of roughage grazers within the classes of herbivores € medrfe=n
; iy =z A \ T k=
(a) True e

e
(b) False

G%].This type of cells synthesizes and secretes chymosin in abomasum:
(a) Parietal cells (b) Mucous cells (¢) Chief cells (d) Neural cells

_22. Another name of ruminants is post-gastric fermenters
(a) True |
(b) False




Ouestion 4. Explain in detai iy Wie _ .
Juestion 4. Explain in detail the functions of reticulum in ruminant animals?
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Question 5. What are the characteristics of an ideal rumen fermentation?
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Question 3: (15 P) 2N

A dairy farmer wants to select Holstein cows on the bases of three traits: - ==
Lr'ihlk }"lL‘_Id (}\'[“[ Nhoti‘v V‘-LJL)I'! and k}-‘;(l[, OVvary, l:_]n,_ of his cows calved in JUI}' 1 i!lC age of 50

months was milked 2X per day and produced 8500 kg of milk of 3.9% fat in 220 days and BW

750 kg. The herd average for milk production was 6500 kg and for BW was 650 kg. The price of

milk was 0.50 .]kag. The cow had a cystic ovary. One standard deviation of body weight was

worth to the farmer 55 JD and one standard deviation of cystic ovary was equal to the loss of 200

kg of milk.

What is the selection index for that cow?

B8HoOo J{a fialedi;

2206 d -
I EC ALY = AL Co-15 «x ;:, 4 o=d) = |
2] 305 = 83725, "3}'/: il R R R

T e M TET R e
/ e ' /2 5‘}/:}.3'_'5 kc,j
' SD 2
Al yiedd W = O 2,/4 gj@ Ha

S C;;/ shnl =R lO G I
< .
bcﬂgj waﬁ SPa R W Aone kz‘)(:[(‘_lsha & Ueeries:

Q)‘j?f[”_c}w,ﬂ HS-C‘)?/ ‘_/

RS~ 3¢ ?éo =8: 22 Y -

1pl 5 i"j..c:D :_,L'

e e B

50 /o0

= S II =
Vi 5/ m A e OO P? = 36‘-‘._ \+1/7 = 50 \—

03
JL@ 4
] = U;_'lﬂ’) +U1}-\.1 P.,_ —I-'Vg]‘\.’:s ﬁ’)f?

= 4% 0,254 8-82% gg ©0-35A N3 G5 Ul x 0.05x 5O =
= ulivs 8 + osg

[3) Bo5-2%x-ME = |0 21445 A




{ : _
C-?“ In the rumen microbes, protozoa are characterized by:
(a) Rapid turnover (b) accounts for 60-90 of microbial mass (c) Large size (d) None

--/-\—;Mm(m's, large amounts of carbohydrates reach to the small intestine
c (a) True *_

-Ql 95. In rumen, the presence of oxygen is essential for fermentation = -

. o Tt r ¥
(a) True (e 2
(b) False
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Question 2: Explain in detail Why are fat content and fat composition are influenced more by

fiber intake? (S P)




